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FIRST SITTING

SSC COMBINED GRADUATE LEVEL TIER-1EXAM
Exam Held On : 16-05-2010

PARTA |
GENERAL INTELLIGENCE
& REASONING,

Directions (1-8) : i sach of the
Tallowing questions. sclect the related
betters,fword /rumiber fram the ghwen
allemnalives.
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(1} Eagle {21 Cow
i Tiger 4] Hen
7. Patrol : Security - : Ingurance : 7
1) Money (2} Policy
%) Savings i4) Risk
A ADBC: EHFG::[LJK:7? .
11} MOPN [2] MPND
13) DRPQ (4] MPON

Directions (8=14) : In sach of the
fallowing questions, select the one

which s different from the other three:
rnpc‘ﬂ'ﬂl!l..
8. (1] 25 36 (2 144, 169
(3 100 121 4] 9. B4
100 (1) Heat 12} Light
{3 Bulb [4) Electricity
1L, (1] Wave (2} Current
|3] Tide 4] Storm
12. (11 X @y
& H 4D

| 18, (1) 200 2y CMAL

(3 TGRF {4) FRTH

14 (1) ABJNM B QRTUZ
13 Y0g 4] WFGOP

18, Arrange the following words ac-
carding to the dictionary ?
I Inventory 2 Inveluntary
3. Invisible 4. Invariable
5, Investignte

1142531 2451322
254 0,3 441532
18. Find the next two letiers in the
ghven series.
BCEHL??
u Xy {21 MK
3 QW |4} OF
17. Which ong set.of letters when se-
quentially placed at the gaps in the
glven letter series shall complete
wr .
u_b_a_ _n_hb_abbn
(1} atmnabb {2} bobbas
(3} babbna (4] balban
18, Fired oud aset of numbers amongst
the four sets of numbers ghven in
the aliematives, which bs the mosd
similar bo the numbers given in the
£ - 0, B0
[1) 8. 42. 88 (2 7, 42. 218
(36, 34. TO (408 48,182
9. Which one number is wrong in the
given series 7
126, 88, T0.
(1) 68 [2) 70
(3 126 14 41
20. Arrange the following in the mean-
ingful/ loglcal order:
. Exhaust 2. Night
3. Day 4. Sleep
5. Work
MLas 2.4 MI5L1L41
B3 s 2.4 4352 1.4

41, 14

the following questons, & serics is ghen
with one term misséng, Clhoose the cor
rect allernathe from the @ven ones that
will complete the series.

Directions (21-24] : In each of |

1. 3,4, 711, 1829, 7

(TTEN 2] 38
{3 43 41 47
| 29, AGMSY, CIOUA, EXQWC 7
HOLIAG, KgWC
i1} GMSYE {21 PMSYE
3 GNSYD 4] PMYES
3. 075, B4, THA 642 _ Y
[1] 431 (@ 314
(3 531 ) 3%
o4, B, 2412, 7 .18, 54
(1 28 12) 36
i3 48 |41 38

28. Ashok's molher was 3 tmes s uld
a8 Ashok 5 years ago. Adier 5 yewrs
she will be twice as old as Ashok
How old 1= Ashok loday 7

1) 10 years (2 L5 yeary

(3 20 years 4] 25 years
08 M & the son of P Qs the gram

daughter of G whe is e husban:|

of P. How 8 M related 1o O 7

11} Son (4 Dwughier

[ Mother 4] Father

27. In a row ol hoys, Srinath i 7ih
from ihe left and Venkat is 121
from the cight. If they nterchanw
thelr poslions, Sninath Becors
Z2nd from the befl. How many bovs
are there i Uhe pow 7
(1E ] 121 3
a3 [4h 34
From the given altermative words
select Lhe word which cannot [
formed using the letters of the
ghwen ward
Given : IMPASSIONABLE
[1] IMPASSABLE
¥ IMPOSEIBLE
(13l IMPASSIVE
© ) IMPASSHON
28 Only one meanbnglful word can b
formed by rearrangng the betler
of the given jumbled word, Fliod
out Lhdl ward,
Gitven - MUSPOPAPCITIH
(1) METAMORPHIC
[2) PHILANTHROMST
(3 HIPPOCAMPUS
4l HIPPOPOTAMITS
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ipven seriea ¥

L, 4 25 5, &

1y i [
% 50 )81

A by leaves Dethl with wﬂl
narmber of women as mén, Al
Meerut F"

rprnl,
rm:r.htrul’mrn. and women. H

wrrmen get in.
bemrded the hus
Inlm]l}'ﬂ Delhl ™
(1) 36 12} 45
(& 15 |4 30
4. I the day before yesterday was
Sunday, what day will It be three
iy after the day after bormorrouw ¥
11} Sunday 121 Mpnglay
[ Wednesday (4] Saturday
Directions [33] : In the fllowing
Jueslion, one statement i gven fol
[rrusert by DD assumiptions [ and I, You
tuter 1o consider Lhe statement to be
rrie even W it seems to be at varance
frarm comimonhy known Eacts, You have
o decide which of the given assump-
1w, I any. follow from the given state-
[FESH|8
33 Statement : Politiclans become
rich by the voles of the people.
Assgmptions ;
1. People vote to make politicians
riek
il Politicians become rick by thelr
virtue. i
(1) Ondy | 1s imipicil
4 Cndy 18 s bmphicil
i Both [and 1§ are implicl
{4] Beah Land II are not imphcil
Directions (34) : In the following
spaestion, Lwo latemenis P and @ are
pivent ollowed by four concluslons 1,
11,100 @ 1V, You hiave 1o consbder te
v slalements Lo be true even il they
seem Lo be sl varlancs fiom commonly
Kisowm: facts. You hivve to declde which
ot thie given concluaions, i any, follow
11 given atatements,
M, Statements :
B AIL men are woaner
@ All women are crazy,
Concluslons :
1. All men are cragy.
11 All the cragy ars men.
111, Seane of the crazy wre oen.
IV Some of the cragy are women.
11} Mooz of the conclusions [aliows
12} All the conclusions fow
(3 Conly |, 10 asd TV Gollow
141 by 10w JIE foliow

1.
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3 as
SHr0VR A ATk, how

mmm

mﬂma ﬁmu

mduzm-qnnhﬂhnlut
ven resnonses,
173 34 528
431 (18 25
A () 471
(1] 23
1A 30 |
B WWM*Mﬂ 12
and 18, which one
ing equations
(1) [90 = 18] + m-
ﬂ]“ﬂfﬂ*llﬂ ﬂ

lﬂrlﬂllﬁn?ﬂ
[ 112 + B x 16 = 38
HMHMIE
wil] be the code
{1} GMBNF
i3 GMCND . mnm
9. Firid out tHE correct anger for the
wnulm!eqmmﬂhmd
the ghven equations.
W E*5=00

B*7=1689

10*T=21
then 11* 10w 7
[ 331 (2 a3
i 678 (%) 845
A child s Jooking for s father.
He wtmﬂﬂmdmhihcml
before turning to his tight. Hewenl
20 metres before wiming to his
right again o ook for his

[ﬂﬂ

I‘Iﬂ

Tl uncle's plare 30 metres from
this point. His father was not
there. From here he weni 100
metres to hia north befoge meet-
ingg, hvies it i & steet. How far
did the son meed his father from
the starting peint 7

(1} 20.m [2) 100 m

(% 280m (4l 140 m

In the following question, 4 stands
fiar any of the mathematical signs
at different places, which are
given as cholees under eath ques-
tior. Select the choiee with the
correct eequence of signg wiich
1w, a8 3 cornect cqualkn,
4adabad 4
xs=

| 4L

ﬂ}-lliv

(L M) =+x

[ ]

~io

the third target ?

1l

[ 45
{3 m1 4] 54
43, In & clasaroom, there are 5 rows

jand Bichildren A. B, C./Dand £

weaipd na {he otk
ln!mnltm'ﬂ}nﬂ e

ﬁ-hiﬂ!ﬂbﬁm:lt.hﬂm[wn
of B.

C ia sitbing bebund E. D 18 siling
i front of E.

The order In which they are s
ting from the firgi row o the last
s

(1] DECAB 2§ BACED

{3 ACBDE ) ABEDC
Little wooden cubes cach with o
abde of one Inch are pul togethes
ta form a salid cube with & side ol
ihree inches. This big cube isthen
pekavted red all over on the outsils
When the big cube s broken uy
Inte the original Itle gnes, how
mizary cubes will have paint on (wo

aldes ?
114 (F1R-]
312 Ho

48, K s o plece which ks located 2 km
away In the nonh-west direction
from the capltal P. R is anather
place that b located 2 kmaway in
the aouth-west direction [rom K
M 1o anvother place and that is L
caled 2 lom away in Lhe north-wes)
direction from R T s vet anclher
place that is locatsd 2 km away in
the south-wesi direction from M
[y wivich direction 18 T lecated in
relalion to P ?

1) South-west |2} North-wesc
ER i4) North

Find out which of the dlagrams
gven In the aiternatives cocrectly
represenis (he relationahip staied
ki the question

Sharks, Wheles, Turtles.



Direcitions [47) : In this question.
amang the four answer fgures, which
figure can be formed from the cut-
pheces ghven below in the question fig-

hne.

47. Guastion Pigure

A

DON

i 2 i (4
48 How many wriangles are there In
U Following e 7
111 11 [2)
13e (4] I8
9. From the given answer fgures.
select the ane in which the ques-
tor figure i hidden/ emnbedded in
the aame dlreciion
fnestion Figure
Anwwer Pljores

|, v|Ralo

50. Which answer fAigure (s the exact

enrror imnage of the ghén dquesiion
figure when the milrmor i beld from
the right at P ?
st iea
i3
@
Adgwer flgores
W L

PART-B
GENERAL AWARENESS

| BL A concave lens always faems an
image which t6
11} real and erect
12} virtual and eyect
(3} real and Imverted
(8} virtual and lnweriad
B3 A vitamin requires coball for Its
activity. The vitamin s
(1) Vitamin B, (2 Vithmin D
() Vimin By (4) Vizamin A
83, One of the conatituenits o tear gos
]
1) Ethane [2] Ethanal
13 Ether M) Chloreperin
. The mothsius of rigidaty i the ra-
ool

(1] kengtucdinal stress 1o locgliu-
dinal gtrain

[2] Vohame stress Lo viodume sirain

(3 shearing siress Lo shearing
strain

{4] teniallz stresa to Lenstle simin

1n o gma trvghves
(1) scinbatie sormpeaaion and rr-
efaction

[ lsothermal compresslon and
rarefction
{3 lsochoric compreaaion and rar-
efaction s
{4} inchark compression and rar-
tfacton
88, 'An stomic clock is bewed an tran-

{4l Phospho-protin
S8 Which orm of the Toflowtmg s aise
called the "power plants’ of the
el ?
(1] Golgi body
2] Mitochonidron
{3] Rftsbborte
14) Lysoaome
. ‘What 18 the chemical mames o vin-
egar 7 .
(1 Clricagid ) Aoetic ackd
(3 Pyruvic acid 4] Mabic ackd

B8. The propagation of sound waves

80. Which of the Rllowing i aot o

property of heavy water 7

{1} Bolling point of heavy water i
kowver than that or acdimary
waker

2] Density of heavy water &=
higher than that of andinare
wales

1) Freezing point of heavy water
16 Fgher Oaar Lhat of ol
waler

[4} 1 produces cormsian

I whibci of the falkowing processes

is emergy released *

11} Reapleation

“[2} Fhotosyriess

i3 Ingesiion

i3 Abmorpuon

B3, Animals Iving in the thies Lranks
are knowen as
1 Arhoreal 2 Vilan
3 Amphibices 9 Aguale

63, Arrangr the follwwing tn chros
lexggal order
I, Tughkacs 1 Lodlis
3 Saiyids 4, Hbar Turks
5, Knilflz
0102 34312054321
M2 4330 445613 &

v Thee bek, 1ibedd “The Tredban War 2
Independenre’ wis written v
{1} Krinhna Ve rma
[2) Marame Cama
1 B.G. Thlak
)V D Savarkar
B8 Who wag the Toumader of te Ser
vl of Inslla Sockety” ?
1] G K Gokhale
[2) M.G. Ranade
{3 B, Tilak
[4] Bipin Chandim Pal
88, The term 'Casie’ was derived fum
11} Pomtuguese (2] Daich
13 Cerman 14} English
B7. The term “Greater indla” denotes
(1} Poditlcal undty
(& Cultural wnlty
{5 Relimous ueity
{11 Soctal undty
o8 Formalised sysiem of trading

agresmente wih grotps of Coon
tries 18 lnoem as

|1] Trading blocks
12| Trade ventures
|¥ Trade partners
(4} Trawte comnirationg



7l

7.

3.

74,

5

8.

. Mohatma Gandhi was profoundly

influenced by the wrilings of
11} Bernard Shaw

12} Kard Misrx

14} Lenin

{4) Leo Tolstoy

the coasls al greater lorce are
Lo s

(1) Tides (2} Tounarnai

1) Curreni (4 Cyclone
Depresaion formed due to deflat
ing ivction of winds are called

(1] Playas (2) Yardang

14 Ventifacts  (4) Sand dines

T land of masxdmum biodiversity
]

i1l Tropecal (& Temperate
(4 Mensoonal  4) Equalorial

I st freqpuency of a full wave
rectifier be n, then cutpui fre-
rjuency would be

@ n

4

in
(] 5 (4} 2n
Heat transfer horizontally within
e atrmosphere is callsd
11 Conduction
(21 Comvection
4 Absorplion
1] Advection
indlan Standard Time relates (o
{1 75,57 E longliuwde
4] 52.5" E longltude
4 80,5 E longliwde
4] O lomgitude
Who is rightly called the “Father
of Local Self Government” in In-
i ?
11 Lowdd Maya () Lord Ripon
13 Lowd Curzon (4) Lord Clive

. The Ddrective Princlples of State

Policy was adopled from the
I Eriish Consiitution

12] Swiss Constilution

131 ULS, Constitution

14| Irish Constiution

Which is the second nearest star
1o the Earth after the Sun 7
Il Viega

12 Sirius

13 Prosma Centawr

4| Alpha Centauri
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| 7B The two forms of democracy are
(1) Parliamentary nd Preskdential
| ) Direct and Indiebe }
{3 Monarchical and Republican
{41 Parllamentary and King g
B0, Which Is an extra-Constitutiona]
eacly
(1) Language Commission
121 Planning Commilsaicn
13 Election Commission
{4] Finance Commission
The Prime Mindster of (nglia ls
{1] Elected 12 Appolnted
{3) Nominated ) Selected
B2, Which ls.met an All India Service 7
1] Indian Admintsiration Service
{2 Indian Police Service
{1 Indian Foreign Senvice
141 Indian Forest Service
83. The lorest in Sunderban i called
111 Serub junge
12 Mangrowe
{3 Deciduous forest
4 Tundra
| B4 Noise is measured in
1) Wart 12 REM
13 Centigrade (4] Decibel
88. Who amaony the lollowing captisred
his third consecuthe Natlonal Bil-
lards title in the year 2008 ?
1) Pankaj Advani
121 Devendra Joshi
13 Geet Sethi
4] Dhruv Sicawaka
88 The Messenger Savalkite lanched
by NASA, I8 to study
111 Mercury {2 Venus
13 Satum 4 Jupilier
. What was the name af the ship
that sank near the Paradip Port in
Septemnber. 2008 causing an ofl
spill 7
11l Red Rose (2} Black Rose
{3 While Rose (4] Green Rose
BA. Wha wmnang the falkowing has been
honoured with the prestigious
Dadasaheb Phalke Award for
20077
(1] Yash Chopes
121 Ustsad Armjad Al Khin
13 Manna Dey
{4l A Hageshwara Rao
88, An Intelligent terminal
111 has a microprocesscr: but can-
nod be programmed by the user

(3 can process amall dala pro-
ceasing jobs, with the wse ol
large CPU

[ imperacis with e wuser in En-
gliah

[4) cannot Lake data from dhe uses

90. Which one of the following is mat

a method d’uummg L E TSR

Income 7

{1} Expenditure method

(2 Product method

(3 Matrbe method

[4) Incomie mel hod

81 The monetary policy s India is for
ket by

(1) Central Govermment
(2 Industrial Finaacial Carpera
tion of India
[3 Reserve Bank of India
(4 Indusinal Development Bank
of India
#3. Ashorl-term government serurily
paper ts called )
(1} Share 12 Debenture
(% Mutuslfund 4 Treasurny hil
83, WTO basically promotes
(1) Financial supporl
(% Global peace
(# Unslteral trade
{4 Multilateral tracle
4. Under which market condition do
firms have excess capacily 7
[1} Perfect competttion
[ Menopolistic competition
(3 Ducpaly
(4 Oligopoly L
88. Price theory s also known as
(1) Macro Economics
(@ Development Economics
(3 Public Econosnics
(4 Micro Economics
88, Al presenil. [ndia s following
{1} Fixed exchange rate
3 Flomting exchange rate
(3 Pegged up mochange rate
(4) Pegged down exchangs raic
. Whe among the following won the
‘ICC Cricketer of the Year Award’

for the year 2000 7
(1) M.5. Dhoal
(3 Gautam Gamibiir
(3 Miwchell Johnson
(4 Tillakaratne Cfishan
98 The hats can fly in the dark be-
cause
{1} they can s=e the objects In
darkness



2) they have weak legs and ‘wre
Ikeely 1o be attncked by preda-
Lo

13} they generate flaghes of light

i4) they genernte ultrasonic sound
Wives :

. What changes will happen to &
hewl of loe and waler kept al ex-
actly zero degree Celatus 7
{1} All bee will melt
{2 All water will hecome lee
3 Nochange will happen
) Cenly some ice will melt

100 National Income s the

{1} Ned Natbonal Product at mar-
ket price

21 Med National Product at lsctar
col

1) Net Demmestic Product at mar-
ked price

4] Net domestlc Produet at factor
CO4L

PART-C
| NUMERICAL AFTITUDE

101, The HC.F and LCM. of two
numbers are § and 48 respec-
tvely, If one of the numbers s
24, then the other number is
11} 48 [Pil
1 24 4 18

1032, The greatest number, which
when subtracted from 5834,
ghves & number exactly civiaible
by each ol 20, 28, 32 and 35, is
i} 1120 1 4714
¥ 5200 {4 5600

103. The ninth term of the sequence
0.3 8. 15 24, 35, ... s

{1) 83 |21 7O

15 80 141 99
125 + 02T

0125-015+009 »eauelio

o3 12] 0.5

|3 0.8 (4] 09

108, The sum of the serlea
11+ 0.8 + 0.06 « 0.008 + 0.0006

v s
1 1
1= 1=
0y ] 3
1 2
2= 1=
I3 3 4 3
00« 0036 = 0016 = D08
108,

V0002 « 00008 « 00002
i enquil to
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34 (2 368
Rk ) g

107, A number. when divided by 14,
|eaves remmiinder 21. If the same
number s divided by 19, then |

the remalnder will be
[ (. |
[ 7 17 |
108. The square rool of 0.09 s
1} 0.30 i 0.04
(3 0.8) 4 0.081
108, The number 0.121212.... In the
£ In equal o
q
4 2
Wy Ay
W W5
3 2x=1
'I.ll.].l'[ ]!( . then x
i equal to
-2 @z
-1 1
11l Two numbers are in the raiio
3 4 Their L.C.M. is 84 The
greater nmber (s
1) 21 @24
(1 28 4 84

3
11 A drum of Kerodens s 3 full.

'H’runaﬂilruuf,tmln

mlpnl.hunﬁ full

 The capacity of the drom s

il 2188 |
i3 1501 (#1801

118, By whist least number should
675 be multiplied 80 a8 to obtaln
a perfisol cube mumbser 7
in3 [ 8
1 24 [4) 40

1 1 ] 1
- - =4+1lll=
12+|12+I|!| +111 5

114 7
I8 eqqual 1o

i

1

1} 1238 ] !m—z
3 618 W 817
118 g j5) W equalto

1. ! 1
Moo ™ oe

1 1
k] = 14 =

5

441 5 016
FRERF - di )]
1t 301
13 0.00 4 10
If @ and b are two odd positive
Integers, by which ol the follaw
Ing integers s |a* - W) abwiays

118. fs smplifiedd 1o

T,

divisibbe T
11 3 12} &
%8 4} 12

118 Ifa = 11 and b = @, then the

a’ e’ cab
walue of I_lE i . i

1
1] 7 2
13 ﬁ ) 20
W 25E - 144 = 144
118, 1-!I'Iﬁ——'—"-;:;:e:n?u;p,l,JI|::-
112
111 420 (] 400
13} 380 |4} 220
130, If o and b be posilive intege=
such that & - i = 19, then the
vakie of o is
(119 ] 20
39 |4 10

131, Ithe ratio of eost price wne ==(i

ing price of an article b as

10 Lb, the peroentage of prolil
in

VR 2 10

(5 %1%

13. A manufactuner marked an articl:
al B, 50 and sald it allowdng 207
discount, Bf his praft was 254
Lhen the cost price of the artlo e

Wi
1] Rs. 440 1% Ra. 35
{4 Ra 32 [4] Fa, 30

133, A shopkeeper earns a prolin of
12% on selltng a book an 10
discount on the printed price Tis:
rallo of the cost prioe and the
printed price of the book i
i} 45 : 56 (2 4501
(W47 : 56 [ 47 51

134, By setiing a bicyele for Rs. 2,800
a shophesper gaing 184, 17 1he
profit s reduced Lo 8% (hen e
selling price will be
1) Rs, 2600 (2 Bs 2,700
i3 Ra. 2,800 ) Rs, 3.000




129, By sclling an wrticle, a man makes
a profil of 254% of ks selling price.
s '|1-rd'|-'| per oer (s
1120 [2] 25
2 |
l&— -
13 3 141 3
I A's income §a 50°% less than

bt of B's. then B's income s
what per cenl more than that

l'|.’t? '
11 125 100
% 73 4 50

127. 1.14 expressed as o per cond of
Lis
1] 64 b 1
141 40P 14) DF

128, Two natural numbers are n the
ratio 4 ¢ 5 and (heir product 8
21680, The smaller of the num-

hers Is
1 36 12] 24
418 141 12
3
129, G ol A= 3 of B then A B
=]
(1) & 20 [ 20:-9
[B4:5 M54

130, Tow supcessive price increases
of [9% and 108 ol an artiche are

eciuivalend to a singhe price In-

creass of
11 15% 2] 20
1 21 4] %
i

Srxedd o x ‘2

13, — =2 then x I
Wt -yl K
H:|||.|-I1.-',|
5 i2

5 =g
o8 o
5] = =l 5

An equilateral trinngle of slde & E
om hing it corners cul off w form
i regular hexagon, Area |in am?}

132,

of this regular hexagon will be
1 343 [N
13 a3 L] %

, The length tin metres) of the long
il rod Uhal can be past in a roam
ul dimensdons L0 m & 10 mx

omia
il 155 2 1%
¥ 1042 4 53 |

| 141 Theaverage of the fest 100 post-
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134 If Re. 1000 is divided betwern A
and B jn the ratlo 3 ;3. then A
ﬂlm f 1 1
{1)Ra. 400 {2 Rs. 500
[ P GO0 (4] Ra SO0

138, What st by added 1o sah term

o the ralke 7 0 11, 50 ap tgmake

il equal g3 ;47

e e TS

Y85 [4) B

A sum of:money A% oomgEousd

irvleenl doubien Meell in LS yenme |

Tt will become eight Bmes of - |

sell in ) 3

(I} 45 years (2} 48 years

[ 5% years 4 B0 vears

Buses start from a bug terminal

with a speed of 20 km/hr al in-

beervall of 10 minutes, What = the

speed of & Mman coming the
opposite direction fowards the

bumnﬂl‘ﬂhmm; ol
al Intervals of B minules W
1} Akmfhr [ Thdedomyhr

iHEkmflr (47
138, [ the circiinference of a éircle Is

P

138,

[4F 75

138. AL what rite per cent perannum
will a sum of Rs. 1,000 amount
i e b S0 Ik £ pearn Gt ol
pound Interest 2
ms’ 'ta 58
e BB

140, What annual payment will dis- |
charge a debit of Rs. 6490 due
In 4 years at 5% per annum
simple Interest?
(1) Ka. 1,400, (2] Rs. 1,500
(31 Re. 1,550 {4} Hs: 1,800

five Integers is !
1) 100 12) 51
I 50.5 ) 48.5
143: In n family, the average ope of g
falher and a mofher 18 95 vears
The average age of the father,
mather and thelr onby son ls 27
years, What is the ageof Ue son ¥
0] 12 years  §23 11 years
3] 10.5 years (4] FD yeirs
143, IT % men o 7 women gan S
fia. 5230 per day, how much
woubd 7 men and 13 women earn
(1] R, 11,60 |31 R, 11,700
|4 Re. 18, 10044] R, 17,100

1 I A and B ogeiher can completr
| & phece ol work in 15 days and 18
alone In 20 days, in how many
days can A alone compleic (he

widh 7
{1 60 (2 45
1 40 [4) 30

3
148, By walking at e his wsial

apeed, a man reaches bis oflic:
20 milnutes laier than his usiial
tieme. The usual dme taken by hdin
1o remch his office 15
(1) T3 minutes (2] S0 minues
(3 4 minutes 4] 30 minuies
148 A can complele a pless of work
It 18 daws, B in 20 days amd ©
in 30 days. B amwd C together slir
thel sl and are forced 1o leae
after 2 days. The time taken by
A nlone to complets the remain
Irig work 4
(1) 10 choges (2 12 chays

1&‘?% hﬁ.mmﬂ

wailking aloag the lUne in e s
 dhirection ol the rate of 3 ke ko
* In 33 seconds. The apeed o 1he

train is

0 30 km/h

{21 X3 km/h

A
13 37 kmyh

14] w%mm

Directions [148-150) : The e
charl. ghven here, represesils the s
ber of valid votes abtained by for st
dents who eombesied election fir school
leadership, The total nuember of vailid
votes polled was 740,

Obeerve the charl and answer
e quesisona hased on (L

Paramjeet

Siwacifuin

v the Original.



148, What was Lhe minsmism narmber

of voies obtalned by any candl-
date

[T TRE ] @110

131 120 [4ah 130

148, What was the winner 7
(1] Sharnan (8 Paramjest
13 Yousin 4 Vislwanath
180, By how many votes.did the win-
ner defeat his nearest rival 7
(1] 40 2 as
13 48 4] 50

PART-D
ENGLISH
COMPREHENSION

Directions (181-188] : In the
falkwing guestdons, same of the sen-
Llesiges have crrore and some have
neme. Find out which part of 2 sen-
Lenee his an error, The number of thai
part is your answer. Your answer 1a [4)
La.. Mo errar.

181, He la o unbversity professor [1)/

bt of hiis three sons [2)F neither

has any meril, {31/ No error (4]

Alter knowing truth, {11/ they

1ok the right decislon (2)/ in the

matter. (3 No errar (4]

It 15 teme you 1]/ decide on your

nexl 121) course of action, (3

Mo error (4]

He who has suffered myoat 1)/

for the cause, (2} ket him speak.

13} Mo #rvor (4]

. A cup of colfes {11/ (s an excel-
lent complerment 21/ 1o smoked
salmoa, (3 Mo error (4]
Directhoas (158 - 180) : Sen-

leries Are gven with blanks to be filed

in with an appropriste word(s), Four
alternatives are suggested for each
cpeesthon, Choose the comeet alerna-

Live cut of the four.

188, The heole] was not too expensive.

152
163,

184,

(1 was it ? |3 wasnitin?

(3] 4a o ? ) st ?

Like husmins, 200 arilmals dwsl
have adenitst ____ thelr teeth.
(1] il (2} filked

(3] Mllng 14] o be filied

It was very kind of you te do the
washing-up, bulyou .

1] dudnl have (o do

2] hadn't todo

i3] mighirri have done

{4 muzsin't have done

187,

158, He went __ a&0 alone.
lm 2w
s - o
180, The o our civillzalion from
an agriculiural soclety Lo tnday's
coenphex vdustrial world was ac-
coemparnied by war,
1) adjustment
(3 migration
19 route
4 metamarphcsts
Directions (181 - 185 ! in the
fallowling questbons choose the ward
oppoalte in meaning to the given word.
161, FLORID
111 Weak & Pale
13 Monotonoua (4) Ugh
182. VERITY
|1} Sanctty 2] Revereoce
12} Falsehood (4] Rurfty
183. PERSPICLITY
{11 Vagueness |2) Dullnesa
3] Unfatriess (4] Unaillingress
184. FERVENT
11 Inexciable
121 Enduring
13) Dispassionale
4} Subdued
188. MEANDERING
(1}Siding (2} Sloping
(3 Stradned |4 Siralght
Directions (188 = 170 : In (he

following questions out of the fr al-
termaiives, choose the one which best

expresmes the meankng ol the ghven
ward,
188, LLXURLANT
1) Lapxury-|oving
(2) Lively
13} Rich .
4} Aburdant
187, CANTANKEROUS
1) Cancerous
2} Ferocicus
[3) Gunrrelsome
[} Fissiparous
168, ONUS
(1) Sadness
(2} Happiness
(3 Responsibility
(4} Criticlsm
188, DERISION
{17 Husmilation
2] Embarrasamenl
I3 Ridicule
4 Condernnalion

170, TRITE

(1} Commamplace

{2 Clever

(3 Bricf

() Imipasdent

Directions (171 - 179) : In thr
lolleing quesiions a part ol the <o)
Llemoe iz bold. Below are glven altenio
tives o the bold par a i3] (2] aol 230
which may I:lﬁpn:wf 1he sEnken
Choosc the vorfect allematlee. 16 cas
[40] m]m;'menwm: ig nesgheld, vour an
swer s (4],
171. Otwipusly he Isn'i ewt wp to |«

oo Leacher.

110 cutamat

1% e in

I eu for

141 Mo Improverment
T2, Power ol wilh money B the mos

craved for woday

111 scughd afler

12] wished for

I weleomedd for

[4] Mo Imjiroeement
173, The baowen shirt wants washing

111 has Lo wash

12 i i neeed of 4 wash

[ requires awagh

l4] Mo bmprovement
174, You are asked 10 chpy this et

word by word.

11} word for word

[2] wordd with word

[ veard 1o woed

(4} Mo improvemen]
178 The wiedk man is a slave o lis

senFuous pleisns

[1h semwsry

[ sensisal

(W secondary

[4) Nulmprovement

Directions (178 - 180] = i 1l
foliswing questions. out ol the 1w
ternadbves, choose e one whick oo
Toe wupbstituges! lor the Eiven s
SR,
178, An undechand deviee resoeted

in arder to justily misconduet

1) Subteduge 2] Manos e

1 Stratagen |4 crl.'l'|1|.l|il'l':'-
177. Impossible io describe

{1] Miracules

13 Inelizble

B Stupenchous

4] Appalling



I7E. Che whio eriticises popular baliefs
which he thinks is misiaken or
L e
11} Philistire (2] leonoclast
(3 mguster (4] Cannibal

178, Detalning and confining someans
(1) [nterruption
(23 Interrogation
(W [nterment
14} Intervamenl

180. Science af the races of mankind
{17 Grenealogy  (2) Epistemalogy
1 Ethioclagy i3] Socioegy
Directions [181-188) : In Lhe

llkswing questions. groups of (oar |

words are givess. [0 each groug. one |
word |s correctly spell. Find the cor-
vetly spell word,

181, |1} collalxwate [2] ooncnocate

[} eolale | ehoclite

11} elrculiews |20 clalroyant

135 chivelery 41 caveloade

(1} sewerely  |2] sovereignity

(2 superiorty |4 serenity

(1} cusmmuiladie

(2] crmermimaralive

{11 accumeslative

4] accommuodative

|1} benidiction

121 hesmerch

|41 Temselicien

|4 lenevodence |

Drections (188 - 180 ! [n Lhe

Lllenwing questions, e st and the last

w-iiferyoes of the passage arc numbered

and & The rest of the passage is

<l il Fowr parts and named P QL R

il S, These four parts are not gven

m Lhelr proper order. Read the sen-

jence and Nind ot which of the four

vombinations is cormect, Then find the
cd rect answer,

186. | Education kn India had a glo-

rious beginning.

Bul after the British rube, it

faced many changes,

[ went o b ceniaries with

the same glory

English as the mediom of in- |

struction had a very great re- |

sponse. |

. One of the changes was the |

intresduction of English as the
mieddiam of instruction.

i As Lhe Britishers len we had

a vomplexity of opinlons re-
warding English

R
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(] PORS [ QPSR
131 PSR 1) SRPQ
187, L. It = easy tocriticize the peaple

al the helm, for the slow
progress |noevery Qeld.
We are well aware that the
intellettuals are leaving our
conntry for better employment
opporunities
Thien (pecalicn remadng urir -
awered because our country
cannol shivw oppariunities 1
the Intellectinbs.
Then, what sbowt thelr obli-
Anatlon to the Motherland ?
Flrst, we shoubd ask curschves.
iss R bl | Biapesndn g Lo Lhe
young intellectuals in India.
This situation of ‘Brain-Drakn®
leads to a variety of problems.
{11 PSQR (2} RPSQ
{3PSRQ.  (4)SPRO
188. 1. It ls the responsibility of par-
erila Lo each the young meeal
walues In Lfe,
of their panehits’ bumy sched-
ule.
. This results i children's ig
norance of aocldl vabues, |
. The reason behind it &5 that
parents are quble busy nowa-
Nerwmdderys parenis spend very
meagre time with children
An guch, the sociery B going
away from the valuwe system
(1] 58P 2 QRS
[ SQRP 14| SPQR
188, 1. The man who doés his duty
without any selflsh desire for
frult may be called a saryast
as well as yogi.
. The man who hes achieved
much evenness of temper will
b serene, because his mere
ihoughis are changed with Lhe
sirength of action.
He would pracilee yoga e,
evenness of temper, and can-
nod but perform acthon.
R. The root of the matter ts that
e slhonild rot allow his mind
Lo Mt from objert aof desire to
anvther and fram that o a
third.

ik

5

.

o.

% Bul he who sbetatne from ac-
tom aliogether bs only an idler,

6, A yol s one who I8 nat ol
tached lo his objects ol sense

ar to action and whose mand
huiis o b roam restlessdy

{1] SRQF |2} RQPS

13] GRSF 14 FR3Q

90 1. Thiswas an importand day ko

Al at toak.

P. I coiled iy, bast Alaloak
would be warm,

. For the firad time he was oo
g o hunt seals alone

R. First he pul an his fur- e
Jacket

5, Then he put om mitiens sl

" il ol deerskin o proect
his hands and feet [rom b
cold.

fi. Finally he picked up the guen
he had cleaned so carelully

{he dny hefors,
(1) PORS [2) QPRS
[YPRSQ [ gRPS

Directions (191 - 198 ! (n the
following questions, a senisnee s
been given In Active Voice/Passive
Videe, Out of Lhe four aliematioes sug
geated, select the one which best ex
presses the same sentence in Passne !
Actbve Voloe,

181, They have made a [m bossb o
this newel.

{10 A ik was based on this noeel

and made.

(21 A il have been made bised
on thils. mavel,

(3 A Mm, based on this novel
has been made

[4] & fMim has been based ol
made on this novel.

183 The people couldn'lL move me L
the hosplial amd he doctor cgier
ated on me al home:,

(1} T couldn™ be mwreed Lo Lhe
hospiwal and was operaled on
il home by the doclar

2] 1 couddnn be moved Lo L
Iw-lul:am! | el L Lie gl
ated on al home.

{3 1 couldn’t be moved Lo Lhe
hospital and | was cpermned
al hoame by the docto

4 T couldnt be maved 10 the
hipgpltal by the peaple and
opetated o an hams,

183, Why did he deprive yoma of e
membership ?

[1] Why yeru were deprived o (he
membershiy ?




12 Why were you deprived of his
memership by him ?
1) Why was he deprived of his
cremibenship
14] Why were you deprived of
YURIP e ke 1]|.|pb}' him ?
184 Tl news has been brought Lo
s by him.
11} He broughl us the news.,
1] He has brought ws the news.
13} He was browght the news o
U8,
140 We bl‘ounhl Lhe mews o him.
Mol a word was spoken by the
crimimal in sell-defence,
(1} The criminal spoke mod & word
in sell-defence.
[ The coiminal in self-defence
spoke no word.
[ The criminal déd not apeak a
word Inself-delence,
{41 The criminal spoke in sell-
defence not & ward.
Directions [198-200) : In the
[llwing passage, you hive one briel
pannage with 5 questions following the
pissage. Read the passage carefully
A chaose the Besl answer (o each
apuesLien el of the fowr allernatives
PABSAGE
Every profession of trade, every
@it i evEry scdencs has its technlcal
voratiulary, the function of which is
partly to designate things or processes
which have no names ln ordinary En-
glish and partly to secure greater £x-
artness in nomenclaiure. Sl.ld'im]
dialecis or jargons are necessary in
techrieal discussion of any kind. Be-
g, universally undersiood by the deve-
1wes of the particular sclence or ant.
they have the precision of a mathemati-
cal lormula. Bestdes, they save Ume,
fue it 1w masch more economical Lo narme
a process than w describe (& Thou-
surads of these teehnical (erms are very
praperty included in every large dictio-
rary. vel, as a whoic, they are rather
van the oulskiris of e English language
than actually within ils bonders,
[Hilerent cocupations, hiwever,
dliffer widely In the character of thelr
special vocabularkes. In trades and
Tandicrafls and other vocations liks
Tarrning and Rshing that have ccoupled
greal numbers of men from remote
Limees. the techndcal vocabulary s very
ohd An average man now uses these
in s oam vocabulary. The special dia-
lecls of law, medicine, divinity and

198,

wwWW.sarkariresul io

mzqwmmmrmhnrw rETIE
198, Special words used tn technical || 37- 11 ] 3811 ) 38117 0. [
discussion ar el | 4302 | ]

{1} may become part of common | |"on x| g8, 13 | 47.00] 4802
s bt MIEREDEL
3 should resemble mathemani- B3 (4 | B[l BB.(1)]| 584
cal fortnila 7.1 | 88 (21| sa.i2| 60. 0
mmmm’mﬂ“" o (1) | 62| &3.14)| sain
197. The writer of this article is es. (1] | 0a.411| e7.121| ee (1
1) & sclentist 0. | 70.2| 72 7200
E:pﬂmﬂ" DY
(4] & businessman TT. 04 | TEB.H| TR B
198. This passage i primarily con- || g1 (2 | 82. (4 na.|2L_i¥:n
mmum“ndpm &S, (1) | Be01) vﬂT.I-IbI"_B-?.!:'iI
feanlons | B0, (1) | 90.1%| 81.[%| 8214

2} vechnical terminology [ oo | o4 021| e8| o612
el e T
198, It is true that 101 4] (102 12) | 105 &%) 104 10
mmm"‘dml‘ 106, (1) |106. 2} | 107. 121 10811/
m:ﬂ Sea:JolafehuRg:. | 108, {3) [100. 13 | 111 3] 133, 10

[2) there ks always a non-techni- || 108, [2) (D04 (1) | 106, 12)) 806, (1)
mﬂwﬁam 7. |18, (1| 18 2) 120, (4]

(%) the average man olten uses | | 130 () [122. 131 | 193, 1) 124, 12
:‘"";‘:“Wb"mm 198, (4) [126. (2) | 127. (3] 128. (1)

not meant for hing 139, 14 mr&r___l_p;_.fu:pr:

[4) everyone is interested b scl- || 1239, (2] |134. (3 | 138, [4)| 136,01
m:nmmummm 197,13 198,12 | 198 11| 140,
& marked Increase in the num- || 141. (3} (142 2 | 143, 18] 144, 01
mﬂ?m’"m'"“’ 148 (2) |14 43 | 147. (4} :m_l:f:-_

(1] Farming 148, (1) (290, (1) | 150 (X lm:_ll'r

(2| Fishing 153, (2 (154, 13) | 198, (41| 1o 10 |
:‘:mm 157. (11 |188. 14) | 188, (21| 180. (4
161, (2) | 162. () | 183, (1)] 164, 01

m 165, (4) |186. (4 | 167. (4| 188, 11
o] an] s e | [mom]mwm
v e e | N ) LG
s o] o] mal|[177-@ [17s 217w 1.1
Wi | 0] 18 ] 1egy ||| 18001 JI82. 12 263, W)} LEA. 1
17.02 | 18- 08| 19| 0.3 ]| | 18044 (186 (2} | 187, 14)) 18&. (1
L[| 3| ae || |18e 0 1902 |00 @] w0
28,121 | 28 (11| 27.00] 383 ||| 19841 [1ea 20| 206, 3] 206, 10
29.04) | 9.1 | oL @| 300 ||| 197 31 [198. 20 | 199, 3] 200,141




A BudeT=27
Similarty, 9 =8+ 2 =83
4MGBExT-1=11

Shmblarky, 11 = 2 -2 =30

A1A+B-E= 1+2+0=8
Similarhy, )
K+L+O= il +12~+15a38

8. |21 The resting place of pig is
calied Sty. Similarty. the resting
place ol cow I& called Byre,

7. 14} In order 10 ensure security,
police or defence personnel pa-
teel the area. Stmilarly, Lo cover
risk, Insurance is done.

BIUADBC—»EHFG
Ll | 4%
[ -4 | |
e |
v

Similary,
ILJd K—eMPNQ
Ll a1
1 +
4
g

B 14] Except the numbes palr 0. 64

I &l others perfect squares of tao
conssculive numbers are gheen.
5 36
J It
(5 6P
144 -5
| i
[12F (L
100 121
i 4
(10 iy

wwW.sarkariresults.ic

Brul.
4
4

e
10, [ Bull s an ftem while all oth
5 are phenomena.

+! i Except Tide, all other, terms
are related io both alr and wates.
Bt tide I8 a regular rise and a0
fn e lewel of sen, ciused by the
attraction of the moon and sun.

12, (2} The posithon number of ¥ in
the English alphabet |8 an odd
AT

gro

Xo= 4,
H =8,

Y =3l
D=4

le-1d cu- L
13. {4} # ;
2
¥
Ty
FRIK

i
L o
H w4
14. 13| Exoept in letter group IXYOQ,
In all others there is only one
Vowel,
In the letter group DXYOQ, thers
are two Vowels,
18. 14! Arrvangerment of wonds acoord- |
i o v Dilctdomiary
4} Irwariable |

i) Inwenitory
5] Imvestigate
(4] Irvindbile:

@ Invohuntary
1K L B N

H— 2 02w

17.12) & [8] & [a] /o [5] a 7 [a]
bty [m] ¢ abtin

L4 3x5=30, I0x3=090
Bx6<45 48x4=192
[ m ai 4

18

HiLrl_Bl_ﬁJ_ l.ﬁ.‘!‘_ L-!'E"
Thersfore, the number 41 s
wrong in the series,

0. (%) Meaningful order of the
words

3. Day -+ 5. Work - 1. Exhawsst

-+ 2. Night — 4, Sleep

QLM I+1=4; Ied=T.
§+T=11: T+ll=lB
11+ 18228 18+20= 47
22 (1)
Ay gt gt Y .y
(. Y . N R L Y M S
PO WP . I R B
gLy 1y,
y . S S, B Y, T
B
ars 'eed  7as ma [
=1kl =11 -1l -iH
. (2)
| 4 13 L& il
L& - - L&
EY # =1

38 () Suppese the present age o
" Ashol: I8 x years and that of his
mother |8 | vears,

5 years ago
3lx-5l=(y-5
=de-15=y-5
-E\:-Hl'lu il
5 years hence,
Zlx+8=ly+ 5
=Ie 10wy 5
Hl-yw-§
From equations (1) and |4]
x= |5 years

28. (1) O is the husband of P M 1=
the son of P,

Therefore, M 18 the son of O
709

Tth —— 32l
'—p@____mt -

12th

Total number of boys in the row
=22 412-1=33

28, |3 There is no YV letter in 1he
given ward,

0. (4

Meaninghal word = HIFPOPOTAMLS

80.09 1 B 25 49 8l
RTY (S A T |
e mt m? e

Therefore, the number 50 i=
wrong i the seriea.

31 [2) Buppose the number ol
‘women boarded the bus at Delhi
s x



Therefore, (he number of men
= Ix
According toguestion.
2k- 10 x4+ 5
=y - xw 0 5
k=18
Total number of passengers
hoarded (ke bus initially = 3
=3x 15=45

33, |1} Day bedore yesterday was Sun-
day.
Therelore, today (s Tuesday.
dDa}' alter tormarrew will be Thurs-

my.

Thursday + 3 = Sunday

33. 14} The statement Implies (hal
paliticians win clections by the
voles of people. Therefore, nelther
of the assumpticns (s implictt In
Lhie slatement.

34. |3} Both the Premiges are Univer
il Alirrmative [A-tvpel.

All men are women.

Al wormien are crazy

A+ A m A - ype of Conclusion
“All men are crazy”.

This ks Conclusion 1.

Conclusion |11 is Uhe Converse ol
]

Conclusion TV is the Converse ol
Siatement Q.
BHUOSPITAL
FELLId Ll
318574618

Therefore,

FPOSTAL
(L o
785818
ML +T+3+84+2+6=24
443+ 1+3+24+5=18
Therefore,
210+ 44T41=22
WL+ 8 = 18 =138
3|18 + Bl = 12 =« 38
=3x12=38

milrsllanﬁub;'
Ll sl

i 4l
[
+l

Provided here is anly for

vw.s5arkariresults.io

M. (1) 6xS=30
Hxdsl=pl
BwuT =50
S6x3+ | = 100
0% T =70
TOxds =211

Similarly,

Nxl0=110
110« 3+ | =331

40, (2)

=Ty

Required distance = AF

- JoF R
Jm+m=-ﬁm-lﬂum
4L Option (2|
Mudub+d
= 34w 204 4
Option 4)
MudsBud
=24 w4420
Bolh options {2) and |4) are cer.
recl.
523+ 1=18
I6x 3+ | =48
Gxd+d=20
0x3+2=80
" Therefore.

1523+ 3= [48]
48x3+ =147
401 15t Row =D
2nd Row = E
Ory) fow. = C
4th Row = A
Sith Row = B

L el
/—|—+ Firal Lt
A einel |
;<h41h|:J Layr
L

reference. It

4 cubes cach ol the frst and Ul
layers will have paint on Lo sides
only.

Therefore, todal number of culx

having paint on bwo sldes
edxZef
45. 1%

N

N Kt

—» |

st
- ]

It is clear that T is located 4o
Wesl of P

46. (3] Sharks belong o Clasa pises
Whale ts &4 mammal angd Tunl
belongs (o class reptilia

@

Turlle

The irianghes are ;

AABC | AABD : AADC @ AAFT
AFDE ; AAFB - AFDB : AFBC
AGBD : MADE ; AGBE : 7DD
ADBE ;

May wvary the Original.
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51. 42} virtwal and erect

&2, |1) Vitamnin B,

B 14} Chburopicrin

4. [2) Violume stress 1o vobume sirain

55 (1) ackabutbc cormpression and rar-
cfackion

5. [2) Caeslum

87, (1] Fhosphatipld

34, i) Mitochondrion

38, 2] Acetic acld

60, 1] Bolling peint of heavy water is
lraver (han that or ardinacy water

B1. {11 Reaplration

B2, 1] Arborcal

B3 {4 4.5 1. 3.2

64, |4} V.D, Savarkar

a8, |1} 06K Cakhale

6l | 1] Porlugscse

&7, [2] Cultural wndty

88, [ 1) Trading blocks

% |4) Leo Tolstoy

F0. [ Tsunami

71. ) Yardang

73, [ 1) Tropical

73 4]l 2n

T4, (] Convectlon

70, (2] 82.5° £ lngitude

76, 12| Lard Ripon

77, 14] [nah Constitution

78, {1 Prodma Centauri

78 |) Parliamentary and Pressdential

B 12| Manning Commasalon

BL |2 Appotnled

B2 13 Indian Focelgn Service

B3 121 Mangrove

B4 [4] Decibel

#5. [1) Panka} Advan|

88. (1] Mercury

87. (1] Red Rose

58, (2] Maznua Dey

AR (1] has & microprocessor, bl can-
1 e programmed by the user

80, 4] Marrix method

B1. |3 Reserve Bank of [ndia

82, |4] Treasury hill

83, 4] Muliiatzral trade

B4, |2} Monopohistic competition

9. (4) Micro Econocmca.

8. [2) Floating echangs rate
97. %) Mitchiell fohrson

| L 4] they generate ultrasonic sound
e

99, (3] Nerchange will Rappen
100. (2] Net National Product at factor
08l

101 (4] Firsd riumber x secomd num-
her

= HCF = LCM
= 24 x second numiber = § x 48

Bxdl
..Snmmnumhtf-"‘&-‘l'lﬂ

0, 18 3% 35
10, 14, 18 35
5 7.8 X
1 T, B 7

Y

LL &8 1

LMo xBx5aTnE
=120
.. Required number
= 58 - 1120 = 4714
A D-3nd
' 3+5=8
B+7=18
15«8 =324
o+ 1] = 35
3%+ 13=48
48 + 15 = 63

6 - 17
104. (3] | Tricky approach
W05 =aand 0.3 = bthen,

Ex i n3+b,ﬂ
pre a’ cab+id

104 2}

S e ] o

o+ bhad ~ab + 1)
a® -ab+
«05+03=08
108, 1 [Tricky appmach |
1+ 0.8 & 0.06 + 0008 + 00006
.= 1,008 .---'1-i
6 2
w l==1—
83
106.(2) Expresgion

0008 = DA x D16 x 018
= 0003  0.0008 « 00002

=g+h

An GGl
II IxBx2
23 x2x3x2=36

107 |2) | Tricky approach|

[f the first dbvisor (s @ multiple of
sevand diwtsor. then the remain
der in secend case = remalnder
olstatned by dividing the frst
madnder by the secand divisorn

;. Remalnder = 2] + 18 =1

108, (1) J308 = /33703 =03
108, (% [Tk approach]

- 12 4
0121813 .. = gyp = g

naen (383"
SHHHEH

-'3 i a'-!-.'!- T dn-|

-3 -6)
=lg-lm=3
=xe-F+12-2
= E=-]

B1L 3 Let the numbers be dxand 4x.
.. Thelr LCM = 12x
L2 = B

- e %"7 .
 Larger number
sdxmduT =l

113, |4} | Tricky approach

Let the capaclty of the drum be «
litres,

dx _7x
m 0= 3

dx

- R

=30

¥
Ik

= x=Gu 3= 180 litres
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ML ET =S5 Sxdndny i Hthe CPof article be Rs. x, then P .
i ) A :
.. Required number w 5 “5“.;;.0 130, |4 _I.EF1H“4_
114.11) l%atll%-—ll]%allll-& 9 i ;
2% 40x100 “AxgeBxg
=] =y 125 = R 32
= 1 123, (1) Let the CF be Rs. 100, A 35
116, (2] 0.001= — -2 s2l.5-4
12 WA . SPwRs 112 R
4414016 I the marked price be Rs. x, then 130, 13) [ Tricky appraoach
116 1] i%lBa0a] WWalr= 112 ———
- : N2x100 1120 Slngle equivalenl percentag b
4] 016 1 =as o =Hhs i “TERSE in price
T T T -
2 ” 1010
MTA5 2 - b n (0o 1) s ) o B el et - 1”" 4= 2
+ Required numkber i = 100 ]_L;m_ o
=13+ 10{3-1] =8 131.2) | Tricky apgroach
v =000 : 1120 = 45 58 7 '__"j
118. (1) [Tricky approach -
124, (2] [Tricky approach JArxed3ci 2
a’ +b® 4+ ab C.P. of blcycle UTrEr e
e bﬂ- 100 Bty casmapwoncnd o sl dlsviciel
2 ® m*ﬁm-ﬁu. 2500
250 vk (O TP ST
=5a-b:||n"-h"+nb| 5P for a prodl: of 8% | 2li-x 2-1
195 :
1 : = Exm = Re. 2700 Squaring on both skdes we wel
a-b | 138.14) if the 5.P. of urticle be Rs. x, :'rau
-x
I | i
T then ts CP = X- T aRs = =0 +x=07-9x
=UWy+ 0 IT-F =14
119, (2] | Tricky apgroach n 24 14
e 11
IF 256 = @ and 144 = b, then .'.Gnln%:iix—hlﬂﬂ A3 B
Exprension = at -1 by 132. (% T_r_il:'ﬁ;:lpqrn:wm
a-b 100 1
la- b=258- 144 = 112 S T
e v 138,12} [Tricky approach]
= 256 + 144 = 400 Relced| precentage
Bl
120. ¢} [Tricky approach] " w-5""%
o= =18 = 1P
2:"0] ;:I- 19 13713 Required percentage Side of the regular hexagon
= 14
121.02) Catn = | lx- 10x=Rs. x - %’g’“m“m - ExG-Ecm
. L
L galr:xlwim 128, |1} Let the numbsers be Leand Sx. ”
pal price Sodxw B 2000 AN
. Area ol the hexagon « : ri
= — 2 100= 10 -u’-ﬁﬂ'“-m:m
10 : ol b EY) a3
132. I3 Marked price = Ra. 30 =y |2 =3 5 x%wd
S P aler discounl = 80% of %0 . Smaller narmber
» Ba. 40 nix=Jxli=20 M Ij.a'ﬁ;:r. om.
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139, (4 [Tricky approsch
Leength ol the kengest ret
© gl 4 10¢ 4 5
- Jo78 = 16 metre

134, 1 | Tricky approach |
A ashare

p \
= Ra. [g*‘WL Rs. v
138, (4] Let ihe required number be x.
Tex _'_.!-
1lléx 4

= 08« dx= B30+
=rv=3-28=5

136, 1) | Tricky appeoach|

e

1R
10

oot

Required time = 42 years
137. (% Distamce cowered in 10 mir-

utes 4l kmph = distance oo

ered In @ mdnules al (20 + X

kmiph

1 8

- — = = (D0 x

+20% 5o BD‘ I

=3 D00 = 1G4+ Bx

= Bx =40

40
===

5
3 kmiph

mm:-hﬂn_mf
- The decreass b ares = H0%.

T
138 (1) A= P[l+|ﬂjj

[

*ﬁ]

1 1L

——

10020

#
+—
100

2

- )

11085 (|
= 10000

wwWw.sarkariresults.io
106 [1 iy 4. (1) [Tricky approach
[lm] " 100 i
. 106 o “#ﬂl]ﬂl}'lm-&'
nl«tﬁ-ﬁ
g e
7 100 100 o Ku 1 day's wark
i) - e T e
-the annaal instskment be LI A .. Py
mﬁlftm 15 20 B0 80
2 A abone will do the work in 60
_[I A'd:l!i] .
\ T00
; 1. (2 [Tricky approach | -
| “nnu} [nnlxa ok
a w0 )77 e JTH %umm-’uﬂnmu
oo o 20 minules
1i6e 110x .
R e - 5 rd ofusual me
= 1152+ 110x + 10604100 pirrons e
= G450 x 100 - b '.'m
430 x= 8450 x 100, :
" mm 148, [3) (B # CT's 2 daya’ work
_""' = Ra. 1500 j(_+_] [5#2]
B0 )
141. (3] | Tricky appreach | ALl
1
1+2+ 3+ . ‘hﬂ-!'!&-'"' Em
- Average T I
A - " mm-l-E-Epm
Gl 2 irne taken by A Lo semplete
. Resquired average this part of work
10041 -5 =
e .ﬂ:ll 15 days )
142, [2) Father + mother 147, i the speed of the train be ©
=2 x 35w 7 yeard Lo Tmph, then relative speed
Father + mother « son = |x= 3 kmph.

=07 3wl years
c SonsagewBl-TOm L] years
143. (4 % men = T women

7 9
o 7 mene EHT_F. F e

7 men + 13 women
48 114
s YA
MNow,
- 7 women = Ra. 5250
1
‘B

i
5250 14

B e

14

7
‘H'ﬂlﬁlﬂm

300

gy ——e w33
5
‘J—"mﬂﬁ
= B00 =33 x5 (x= 3
o 30= 11 (x-3)
m | lx- 33 = 360

W . 8
e T = 37 hph

148, (3 Yasin got the minkmnam votes.
980" m T2

L

LB60Fe %:m-m}



140, 1} Svisiman ot hefrifimus |

Wiles, Le

wvlm-i-lu W
g

He was the wiinner

15011 Angle of the dilference af |,

voles of the winner and the new
5l rovil = 130 - Hf = 207
Mot s PR

T20
i a0 =0
20" 380

IS L 1 Mrither is wsed for two things, |
Fur more than twe things, none |
sk be used, { =¥

152, |1] After knowing the tﬁﬁ“ﬂﬂ
bt coeTest usigs, 4

A5 (2110 4s Gime (1 2 high trme i ol
lowed by the elause in simpls
past that shows present (bme,
Hence. dechded oo your next
should be wuserd.

184, [ Replace let him speak by
should be allowed to speak

138, 141 Mo error

156, |11 was it

157,111 Gl

156, 4] musta’l have done

1B, 20w

D60, |4] metamorpibosts

161121 The word Florld (Adjective)

medan : sy, gaudy; ormnie; red:

lwing too much decoration or
ehetail

Che word Pale [Adjective)
avans : Bght B colous: ol strong
ur bright; h..wmg shin thal isal- |
sk white because of lness

Hesice, Lhe words Borid and pade |

AT AN T

A The word Verlty [Noumn)

meana @ a bellef or principhe

almzut life thal is accepted as

e trughy.

Hence, the 'l.'rjrr!!l--lrlrlt" and

falsehood arc anLamymous.

183 (1) The word Persploulty (Noua)

s clartty

Ihe word Wagueness (Moun)
meas - no claity i a person's

.

Flence. the words perapleulty
el vAgeness T ANLOmyIoUs,
1) The ward Fervent (Adjoctive)
e having ar showing wery

stiung and sincere eelings about
somcthibng: ardesnt

wwW.sarkariresults.ic

Alwe) : Infugnced Ly
iy o 4 474
Henee, the wonds fervent and
| diwpasipaate am iotymous,

163, |11 'L he word Meandering (Adjec-

Mclns Nl suraigh,
curvesd; & course thil docs not
JlcHove s stadub paih,

Hemee, thre words meandering
and stealght nre asdonyinus

1648, (4] The wird Luxariant (Adjec-
tiwe] menns | growing ihickh and
sirmmngly; rich in something tha
ia pleasanl or beautlbul, abun
lang

167.13) The word Castes kerous [Ad-
Jeettve] mpeuns - bad teogaered
and alwavs complaining,

Henece, the words cantankerous
and quarrelsome aie sy -
.

188, [ The word Onus (Nowa)
means . the respansibility for
somicthing,

Look at the seatence :
The arius is on emplovers bo fol
Lo hiesalth and sabely laws,

160, 1| THES Deritod |Nodn)
meane | ndicube; mockery: a
strong feeling that somchody
sumething s rdicubous and nol
wiwth considering seruasly

170U (1) The ward Trite [Adjective)
mians : dull and baring because
it has been expressed su many
fimies before: nof orginal; banal

ITR AN loonoelas,

I.TP.-HI lewe sl

180. (Y Frhnology

IBL (1} Correel spmellings o
words are o mmenns
Ll sumd chocola

Y Correct =pedlings o

WONES afe - ciecuions ol o
ared eavaloach:

183 (4 Cusranc spellings il
winrds are ;. sevnly, oo

acicl s riority

I8 (4 Correc) apellings of <0
WONAA wre cumuiatoo
el il acownalins

LBB. 4 Corrcat spefiings ol
words are | benediciio
amirch wnd benelloe

184, (2] Qs

187, 4] Seig

L8, 1] SR

184, 1] Sige

L0 (2] {HY

18043 A Bl Lrasesh o0
haas Bween inaede

B (1) | comldn be mumed Lo 1y
Tevapaitial and was operated o
henae tw b el

183, 1) Why wore pas i |
yowir memibiershiyy by hiin

184, 2] e Bes Droaphi (e new
(151

188, [3 The cnminal dich net
wiord onosell defenes

| VG, A skl sesembale s bote o

learrmyala

very opdinary and conlsining [ 9T 100 lssaus,

nathing that is interesting or dm
pariant,
Hener, Lhe words trite ancl com-
moaplace are ST S,
171, (1] Phrase ‘cut out’ means - 1o
have the qualibies amd abilities
needed for semething

172 4] Mg iriprovement

178 ) requires a wash

174.11) word for word mcans : i ex
actly the same words or when
trupslated exuctly equivaient
wodtls

178, () ‘The word sensual (Adjective]
means ;. connected with your
phyalcal feslmgs. ghving pleasyre
W your physical senscs, cape
clally to sepual pleasures,

178, (2} Manoeuvre

1772 [neifakle

1B 1Y levhrieal Levimiedog
198 L% the aveae nem

lnis awii voualsulaey wh.

lix

IRV

unce bechmel langaag Vi
mieanl Sar Ll

| B0 Goverrment
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